Atomic Properties

Practice Questions – Answers 

Answer each of the following questions.  Show ALL work needed to solve each problem.
	Isotope name 
	Isotope mass (amu) 
	percentage 

	Silver-107 
	106.90509 
	51.86 

	Silver-109 
	108.90470 
	remainder 


a) What is the missing percentage?
48.14%
b) Find the average atomic mass of silver.   107.86770 amu
	Isotope name
	Isotope mass (amu)
	Relative Abundance

	Silicon-28
	27.98
	92.21

	Silicon-29
	28.98
	4.70

	Silicon-30
	29.97
	3.09



The 3 naturally occurring isotopes of silicon are listed above with their masses and relative abundances.  What is the average atomic mass of silicon?  28.09 amu
1. A chemistry student’s grade is weighted. Tests are worth 50.%, labs are 25%, and homework is worth 25%. A student's test average is 85.0%, lab average is 77.0%, and homework is 91.0%.  What is the student’s average?
84.5 %
2. Iron has four isotopes: 

	Isotope name
	Isotope abundance
	Isotope mass (amu)

	Iron-54
	5.90%
	53.94

	Iron-56
	91.72%
	55.93

	Iron-57
	2.10%
	56.94

	Iron-58
	0.280%
	57.93


What is the average atomic mass of iron?  55.84 amu
3. For each of the following isotopes, write the short-hand notation and state the number of protons, electons, and neutrons present in the atom.
	Protons
	Electrons
	Neutrons

	a)6
	6
	7

	b)92
	92
	143

	c)2
	2
	1

	d)90
	90
	141

	e)5
	5
	5

	f) 7
	7
	7

	g)48
	48
	65

	h)2
	2
	1

	i)88
	88
	140

	j) 26
	26
	32


a) Carbon-13



b) Uranium-235

c) Helium-3

d) Thorium-231

e) Boron-10

f) Nitrogen-14

g) Cadmium-113

h) Helium-3

i) Radium-228

j) Iron-58

